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Question No. #26071. The nurse is assessing the growth and development of a three year old
child. The nurse should expect the child to be able to

(a) Ride bicycle

(b) Jump rope

(c) Throw a ball overhead www.nursingwork.in

(d) Hop on one foot

Question No. #26072. To minimize a toddler from scratching and picking at healing skin graft,
the nurse should utilise

(a) Mild sedatives

(b) Hand mittens

(c) Panishment for picking

(d) Distractions

Question No. #26073. A child is treated for superficial thermal burns to the thigh. The child is
in great discomfort and does not eat. Which of the following diagnoses should receive pOriority?
(a) Altered nutrition

(b) Impaired skin integrity

(¢) Risk for infection

(d) Acute pain

Question No. #26074. The nurse is caring for a pre-schooler child with diagnosis of
pneumonia. The child is feeling better on 3rd day of hospitalization and wants to play. Which of
the following will be the best choice of entertainment?

(a) Blowing bubbles

(b) Looking at picture books

(c) Watching videos

(d) Riding tricycle

Question No. #26075. According to Erik Erikson’s stages of psychosocial development, the
schooler experiences which of the following psychosocial crisis?

(a) Trust versus mistrust

(b) Industry versus inferiocity

(c) Initiative versus guilt

(d) Intimacy versus isolation www.nursingwork.in

Question No. #26076. 'When performing tracheal suctioning for a client with a tracheostomy
the nurse should

(a) Preoxygenate the client before suctioning

(b) Apply negative pressure as the catheter is being inserted

(c) Make sure that the tracheostomy cuff is inflated

(d) Instill normal saline into tracheostomy prior to suctioning

Question No. #26077. Which of the following diet would be most appropriate for a client with



COPD?

(a) Low fat low cholesterol

(b) Low fat, low sodium, high carbohdyrates
(c) Bland, soft diet

(d) High calorie, high protein diet

Question No. #26078. A man has been experiencing night blindness. What vitamin could be
deficient in?

(a) Vitamin A (b) Vitamin B

(¢) VitaminC (d) VitaminD

Question No. #26079. Acute pulmonary edema caused by heart failure is usually a result of
damage of which of the following chambers of the heart?

(a) Leftatrium (b) Right atrium

(c) Left ventricle (d) Right ventricle

Question No. #26080. In elderly client with pneumonia may appear with which of the
following symptoms first?

(a) Altered mental status and dehydration

(b) Fever and chills

(c) Hemoptysis and dyspnoea

(d) Pleuritic chest pain and cough www.nursingwork.in

Answers for the above Nursing Questions
Answer for Question No. #26071 Option C
Answer for Question No. #26072 Option B
Answer for Question No. #26073 Option D
Answer for Question No. #26074 Option A
Answer for Question No. #26075 Option D
Answer for Question No. #26076 Option D
Answer for Question No. #26077 Option B
Answer for Question No. #26078 Option A
Answer for Question No. #26079 Option B
Answer for Question No. #26080 Option D
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